See Standard Drawing
E 805-TSCS-01 for signal
arm details.

Top cover

= NOTES:
§ (@ See Standard Drawing E 805-TSCS-05 for handhole details.
E 2. See Standard Drawing E 805-SGGR-01 to -03 for grounding details,
L (Varies) !
|
See Standard Drawing |
E 805-TSCS-04 |
|
|
i A_
POLE DIMENSIONS : _g
CANTILEVER SECTION 1 | :{:';
ARM LENGTH | D
L BASE WALL | -;
DIAMETER THICKNESS ' <
Pole Section 1 - =
15' to 35' 17" 5/16" | 3
>35' to 60' 24" 5/16" | g
| S
! (7p]
5/16"5/16" Seal |
- P Nweld i
|
Pole outside face See Detail A |
\ . ) _ | Handhole A
5/16" x 2" Backing ring | INDIANA DEPARTMENT OF TRANSPORTATION
[ 1 / _ Base plate e ,LL, f TRAFFIC SIGNAL CANTILEVER STRUCTURE
(5/16 + 0.44) x 5/16) |\1 \ Seal ~ Skirt NANANANRNE SINGLE SIGNAL ARM POLE ELEVATION,
4{;0 1/8 weld hoob DIMENSIONS, AND BASE PLATE WELD DETAIL
|1 |1
- SEPTEMBER 2012
POLE ELEVATION STANDARD DRAWING NO.  E 805-TSCS-01
N K /s/ Richard L. Van(Cleave 09/04/12
ase plate SUPERVISOR, ROADWAY STANDARDS ~ DATE
POLE/BASE PLATE WELD
DETAIL A /) Mark 4. Miller 09/04/12
CHIEF ENGINEER DATE




12'_0"

13" 10-11"

12'_0"

(2) 30-0" min.

12'_0"

Top Cover

Arm Rise

Inlet A/

Inlet B

End section extension with wall
thickness 3/16" min. and with
drilled hole for 5/8" bolt

(2 OPTIONAL ARM SPLICE DETAIL

60°
(® TYPICAL SEAM WELD

(D Inlet C

Base section with wall
thickness 5/16" and field drilled
hole for 5/8" bolt with curved
washer and lock nut

@/ Inlet D

ELEVATION

ARM DIMENSIONS TABLE

(ft) DIAAI:/FI{gI'ER ?ﬁll\g_lglv\élél_s (iﬁ.) I(I:\l/I\_IIBEI'_I'ES
AT POLE (in.)
15 8" 5/16" 7 1/2" A, B
20 10" 5/16" 10" A B
25 11" 5/16" 1-01/2" A B
30 13" 5/16" 1-3" A, B
35 14" 5/16" 1-51/2" A, B, C
40 15" 5/16" 1'-8" A, B, C
45 17" 5/16" 1'-10 1/2" A, B, C
50 19" 5/16" 2'-1" A, B, C, D
55 20" 5/16" 2-31/2" | A,B,CD
60 21" 5/16" 2'-6" A, B,CD,E

NOTES:

See Standard Drawing
E 805-TSCS-04 for connection

Pole Section 1—— |

/‘J.\ =O. ]

} ~
-9—-{ g_

| 8

\JI/ CUD’

| S

! <

o1 | 2
& T

@ Number of cable inlets depends on arm L (See Arm Dimensions Table).
The inlet diameter shall be 1 3/4" with rubber grommet (Typ.)

@ Optional splice can be used for arm length of greater than 40Q'. Field
assembly shall achieve a snug tight joint, with minimum overlap not less
than 1.5 times the inside dimension of the end section.

Arm rise R is measured in the undeflected position without vertical loads

on the arm.

4. See Standard Drawings E 805-TSCS-06 and -07 for placement of signal

and signs for each arm length.

@ If seam welds are used, the weld location for the arms shall be along the
bottom, and on the side of pole as shown.

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
SIGNAL ARM DIMENSIONS & DETAILS

SEPTEMBER 2012

STANDARD DRAWING NO.

E 805-TSCS-02

W,
/

®

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




D-5/8"
Inside Pole Diameter
D (Section 1)
Inside Pole " "
Diameter) 3 B 3
2l| B 2I
(Bolt Combination arm
Circle) direction
90° (Typ.) | 1" Thick
4-11/8" ¢ Tapped holes __*. ! e O/’é‘?\~

3" g Center hole with

rubber grommet 4" @ center hole

1" Thick plate with rubber grommet

6-11/8" @ tapped holes

(1) BOTTOM SPLICE PLATE

(For Cantilever Arm Length of 35' or Less)

(1) BOTTOM SPLICE PLATE
(For Cantilever Arm Length Greater Than 35' to 60")

@ Pole bottom splice plate

ZI_OH
3 7/8" 1!_4 1/4!! -‘3_7/8" iQ
"@ Hole flv\ﬁ
2
\&, 1
L
/ \
/ \ =
' 1'-mircl ! < 5
\ A} ~
t B | T ? B
4" Radius/ Outside ®
. N
pole diameter m
9" Diameter Hole— PLAN
. 2'-0"
3
: 37/8" | 1'-4 1/4" | 37/8"
| |
C I .
SECTION B-B
BASE PLATE A

2|_6Il

41/16"

1'-97/8"

41/16"

2 1/2"@ Hole

~

1'-9 7/8"

2'_6"

12" Diameter Hole/

Outside

BASE PLATE

PLAN pole diameter
] 2-6"
= ay1et| 1-9 7/8" .| 416"
I i N
SECTION C-C

B

41/16"

1/8" Removable top

Bolt circle shall match

bolt circle of pole —

splice plate

1/8" Top cover

Self locking
washers

3/8" J or C hook

"

2-11/8"x1 1/2" Stainless steel
hex bolt with lock washer

Diameter at pole top

I

+ 1"

POLE TOP COVER

I (T
AISSS IRV T TSRS SS

------

4|I

/—I_Dole section 1

#35 galvanized sash chain

welded inside I D (ir]lside)
pole, facing i
center of pole
P SECTION A-A

NOTES:

N\ 1'-3" length, welded or pop riveted

to top cover and steel pole

Handhole B

(1) See Standard Drawings E 805-TSCS-11 and -12 for bottom splice

details.

2. Bolt circle shall allow clearance for the plate washer. Cutting or
trimming the washer will not be allowed.

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
SIGNAL ARM POLE BASE PLATE, BOTTOM
SPLICE PLATES, AND POLE TOP COVER DETAILS

SEPTEMBER 2012

STANDARD DRAWING NO.

E 805-TSCS-03

N

an
/

/s/ Richard L. VanCleave

09/04,/12

/s/ Mark A. Miller

SUPERVISOR, ROADWAY STANDARDS DATE

09/04/12

CHIEF ENGINEER DATE




NOTES:
1. See Standard Drawing E 805-TSCS-05 for Handhole B details.

I
. Ring stiffener with
I bending radius Rs

f
Flange plate —

|
Ring stiffener (2) The required signal arm rise shall be built into the gusset plate

at the angle X. The angle X is described as arc tan R/L, where
R is the arm rise and L is the arm length. Both R and L vary
and are listed in the Arm Dimension Table on Standard Drawing
E 805-TSCS-02.

Rs = pole radius
plus 1 1/2"

, {_ W Thickness of H

g Ring Stiffner —11
1/4

_—Gusset plate _t4h-lBoIrEs eacr% &
wi - hex nu
| I 2 - flat washers 4 |J
: I G SECTION E-E Ring stiffener (typ.) Seal
ea
| | ; weld / 1/817
| i 7 (Typ.) C D 3 1/4
) I ( See Table) Flange plate g\l/J gs@ismgzs of 5/16" x 2" Backing
| | Seal / Ring Flange Plate
| . weld > 1/8 |/ Q Signal Arm AxB
\ | N i l E Arm tube
Ring stiffener ’
! g e A o L Handhole B \
. D|F Ale i : X°
! 5 ] - ]
) N 1/4 Typ
ELEVATION OF GUSSET PLATE ST 0 XS0~
+ 0.44) x

1/4

e E 45°
1/4

DETAIL B - ARM WELD

Backup Ring—/

Gusset plate

3" @ hole with rubber
grommet for cable access
in pole and flanges

L2

Detail B

Ring stiffener

See Table
( g )

( See Table)
ELEVATION

SIGNAL ARM CONNECTION DETAIL

SECTION D-D

L5, INDIANA DEPARTMENT OF TRANSPORTATION
TRAFFIC SIGNAL CANTILEVER STRUCTURE
PLATES AND BOLTS FOR SIGNAL SINGLE ARM CANTILEVER SIGNAL ARM CONNECTION DETAILS
Ring Stiffener FLANGE
4l ARM FLANGE PLATE | BOLT PATTERN |RING STIFFNER| PLATE BOLT SEPTEMBER 2012
LENGTH A x B GUSSET PLATE | THICKNESS
TOP OF GUSSET PLATE : €xb " N STANDARD DRAWING NO. _ E 805-TSCS-04
15' TO 35' 22"X 22" [71/2"X 17 1/2" 3/8" 11/2" | 11/8"-7 UNCx 4 1/4" LONG
>35' TO 60' 33"X33" 27 1/2"X 27 1/2" 1/2" 13/4" 11/2"- 6 UNC x 6 1/4" LONG /s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS DATE
/s/ Mark A. Miller 09/04/12
» CHIEF ENGINEER DATE




| NOTES:
3" I n
@ In lieu of fabricated handhole frame as shown, frame may be cut from 3"
f f
1"x 3" flat ___| - 1/2" @

\ plate with rolling direction vertical.
3 See Standard Drawings E 805-TSCS-01 and -08 for handhole locations.
bar frame @ holes —/ o

3
4 }0 ?
_______ 7 2 \P
- Typ. j7_L {

‘ \6" x 8" x 3/16" Plate
1" 4" 1"

HANDHOLE B FRAME DETAIL COVER
SECTION ACROSS POLE

1 Handhole A shall be used at the base of the pole. Handhole B shall be used at
all other locations.

|
Drill and tap for 2 screws,
3/8" - 20 Chase thread after —
galvanizing

1/2 n

l—Arm AXxis

&

1/2
1/2

HANDHOLE B

Grounding clamp

Drill and tap for 4 screws,
3/8" - 20 Ch thread aft
galvgfl?zingr;ea ° er\ ‘/\1/ _\ ®
K)J\/Q/, 1/2" @f
CYNG
(hTOyISS) INDIANA DEPARTMENT OF TRANSPORTATION
1" 6" - _ = '
NS TRAFFIC SIGNAL CANTILEVER STRUCTURE
1"x 3" flat S HANDHOLE DETAILS
bar frame o
o w o | 2 %, b SEPTEMBER 2012
M X STANDARD DRAWING NO.  E 805-TSCS-05
T . Typ, o \\ wa,,
_ 8" x 12" x 3/16" Plate o b Vcné(:;/, S
.I L FRAME DETAIL COVER /s/ Richard L. Van(Cleave 09/04/12
1" 6" 1" SUPERVISOR, ROADWAY STANDARDS DATE
[ 1
HANDHOLE A HANDHOLE A .
SECTION ACROSS POLE /S Mark 2. Miller 09/04/12
CHIEF ENGINEER DATE




10' 10'

/—Top of Pavement

35' ARM

E ©of
=1 0.5' N £ S
£ C - 2 3 2
= S E =
s 12 5 =
= Top of ~ =
i { Pavement
15' ARM
, 120 120 1t
| | |
® ® ®
B ——
= . £
S 32 %
in ' =
™ N

!
e

/—Top of Pavement

® .
25§ g
~—— £ =
17 3 =
= in
N N
:Top of Pavement
20" ARM 25' ARM
LEGEND
Device Description
@ 12" - 5 Section Signal Head With Backplates
36" x 30" Regulatory Sign
@ 18" x 96" Street Name Sign
@ 12" - 3 Section Signal Head With Backplates
@ 18" x 132" Street Name Sign

22' Maximum

12' 18'

-
B —#

o

27'

T @0

17.5' Minimum
22' Maximum

:Top of Pavement

30' ARM

NOTE:

1. The structure arms and pole are designed for the above loading
conditions. Foundation types A and C are designed for arms having
length of 35 ft or less. See Standard Drawings E 805-TSCS-15 and -17

for foundation types A and C.

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
PLACEMENT OF SIGNALS AND SIGNS
LOADING FOR ARM OF 35' OR LESS

SEPTEMBER 2012
STANDARD DRAWING NO. E 805-TSCS-06

\
\\\\\ . V
\\

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE

s/ Mark A. Miller 09/04/12
DATE

CHIEF ENGINEER




17.5' Minimum

| o

17.5' Minimum

iTop of Pavement

40' ARM

22' Maximum
17.5"' Minimum

1z 12
® ® ®
E—R—p
_
o 30 E
| | .fzu
_£Top of Pavement ~
45' ARM
12' 12

12' 12' 12

@ |

)

17.5' Minimum

@e@ +

24'

12'

— eBT

I e

24'

i
Lo T
|
[

12

L oh®

:Top of Pavement

55' ARM

22' Maximum
17.5' Minimum

/—Top of Pavement

60' ARM

|
|
®
= =1
®
. 5
12" 24 1 3 E
1 ol
=
N
Top of Pavement
N
50' ARM
NOTES:

1. See Standard Drawing E 805-TSCS-06 for Legend.

2. The structure arms and pole are designed for the above loading
conditions. Foundation types B and D are designed for arms having
length of greater than 35 ft to 60 ft. See Standard Drawings

E 805-TSCS-16 and -18 for foundation types B and D.

L ep®

INDIANA DEPARTMENT OF TRANSPORTATION

22' Maximum

TRAFFIC SIGNAL CANTILEVER STRUCTURE
PLACEMENT OF SIGNALS AND SIGNS
LOADING FOR ARM OF GREATER THAN 35' TO 60’

W,
W\ 1,

SEPTEMBER 2012

STANDARD DRAWING NO. E 805-TSCS-07
\\\\\\%\ \/ . \/O/-;g//////

\\&v% (@Z//// /s/ Richard L. Van(Cleave 09/04/12
- ™ i; SUPERVISOR, ROADWAY STANDARDS DATE

o o =

el L= .

//%A 3| fs/ Mark A. Miller 09/04/12
N IONAL g$%j\o\\ CHIEF ENGINEER DATE




Combination Arm
See Standard Drawing
E 805-TSCS-09

See Standard Drawing

E 805-TSCS-02 for signal
arm details.

L (Varies)

Pole top luminaire

Handhole B (1)

1l_6ll

min.

See Standard Drawing
E 805-TSCS-10

(@ Pole Section 2 \

Handhole B @

min.

2!_7"

5/13"5/1

o))

i

Seal
weld

See Standard Drawing
E 805-TSCS-04

]
Pole outside face\

e

5/16" x 2" Backing ring

Pole Section 1

[ ] ]
(5/16 + 0.44) x 5/16" [\, ~
1/4 Seal
45° 1/8 weld
~ /<§ See Detail A
ase plate
POLE/BASE PLATE WELD Basesi:?tte

DETAIL A

Signal arm mounting height (22' max.)

Handhole A

1[_6"

Combination arm mounting height (39' max.)

POLE ELEVATION

NOTES:

(1) See Standard Drawing E 805-TSCS-05 for handhole details.
2. See Standard Drawing E 805-SGGR-01 to -03 for grounding

details.

@ Base diameter of Pole Section 2 shall be equal to top diameter of
Pole Section 1.

VERTICAL CLEARANCE CRITERIA:

Maintain 40'-0" minimum clearance from
top of pavement to the camera lens.

POLE DIMENSIONS

CANTILEVER POLE SECTION 1 POLE SECTION 2
ARM LENGTH
L BASE WALL BASE WALL
DIAMETER | THICKNESS | DIAMETER | THICKNESS
15' to 35' 17" 5/16" See Note (3 1/8"
>35' to 60' 24" 5/16" See Note (3) 1/8"

INDIANA DEPARTMENT OF TRANSPORTATION

SEPTEMBER 2012

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION POLE ELEVATION,
DIMENSIONS, AND BASE PLATE WELD DETAIL

STANDARD DRAWING NO.

E 805-TSCS-08

W

VWL
W 1,
/

AT

/s/ Richard L. VanCleave

09/04/12

SUPERVISOR, ROADWAY STANDARDS

/s/ Mark A. Miller

DATE

09/04/12

CHIEF ENGINEER

DATE




L (Varies)

30-0" Min. (2)

6"I 11[_6" I 12'_0"

Top Pole luminaire
(if required)

Top cover

Inlet A/

Inlet B

End section extension with wall Base section with wall

thickness 1/8" and with
drilled hole for 5/8" bolt

(2 OPTIONAL ARM SPLICE DETAIL

thickness 5/16" and field
drilled hole for 5/8" bolt with
curved washer and lock nut

ELEVATION

NOTES:

@ Number of cable inlets depends on L. See Arm Dimensions Table.
The inlet diameter shall be 1 3/4" with rubber grommet (typ.).

@ Optional splice can be used for arm length of greater than 40 ft. Field
assembly shall achieve a snug tight joint having overlap not less than
1.5 times the inside dimension of the end section.

@ Arm rise R is measured in the undeflected position without vertical
loads on the arm.

@ See Standard Drawing E 805-TSCS-05 for handhole details.

(5) If seam welds are used, the weld location for the arms shall be along
the bottom, and on the side of the pole as shown.

See Standard Drawing
E 805-TSCS-10 for connection
details.

Pole Section 2, see Standard
Drawing E 805-TSCS-09.

@i

INDIANA DEPARTMENT OF TRANSPORTATION

60°

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION ARM DIMENSIONS & DETAILS

SEPTEMBER 2012

(5 TYPICAL SEAM WELD

STANDARD DRAWING NO.

E 805-TSCS-09

ARM DIMENSIONS TABLE

ARM R CABLE
L DIAVETER | iceess | (3) "o
15 51/2" 1/8" 7 1/2" A
20° 51/2" 1/8" 10" A
25' 7" 1/8" 1-0 1/2" A
30' 8" 1/8" 1'-3" A B
35' 8" 1/8" 1-51/2" A B
40 9" 1/8" 1-8" A B, C
45' 10" 1/8" 1-10 1/2" A B, C
50' 11" 1/8" 2'-1" A B, C
55' 11" 1/8" 2-3 1/2" A B, C
60' 12" 1/8" 2'-6" A B, C

W,
/

®

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




Stiffener plate
L — Thickness 3/8"

I
S
I
P e
I
I

| —Gusset plate

| 1/4
/
I
N
|
: \__ Stiffener
Q/
I

plate

ELEVATION OF GUSSET PLATES

Gusset plates

Plate stiffener

TOP OF GUSSET PLATES

Flange plate —

4 - Bolts each
with 1 - hex nut &
2 - flat washers

Combination arm

3" @ hole with rubber L"

\ grommet for cable access F
in pole and flanges
Detail C

weld
\_:>_ _____ -
D A
&N O
Backup ring—Jf/ \l\
B
SECTION F-F

Gusset plates

’/ Handhole B

WTYP
WWP

ELEVATION

COMBINATION ARM CONNECTION DETAIL

PLATES AND BOLTS FOR COMBINATION ARM CANTILEVER

ARM FLANGE PLATE | BOLT PATTERN | -ANGE
LENGTH Ax B CxD PLATE BOLT
THICKNESS
15' TO 35' 20" x 20" 17" x 17" 1" 7/8" - 9 UNC x 3.5" LONG
>35' TO 60' 25" x 25" 22" x 22" 1" 7/8" - 9 UNC x 3.5" LONG

NOTES:

1.

- ~|p -Plate stiffener
SECTION G-G
3"
Max. | | Seal
! Gusset plate thickness 3/8" weld ~1/8 1/
— )/

G I Continuous Back Up Ring
| l G
|

See Standard Drawing E 805-TSCS-05 for handhole details.

@ The required combination arm rise shall be built into the gusset

plate at the angle X. The angle X is described as arc tan R/L,
where R is the combination arm rise and L is the arm length. Both
R and L vary and are listed in the Arm Dimensions Table on

Standard Drawing E 805-TSCS-02.

Outside Face

N

1/8 + 0.44) x 1/8

1/ ) x 1/ \/a
45°

DETAIL C - ARM WELD

Flange Plate A x B

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION ARM CONNECTION DETAILS

SEPTEMBER 2012

STANDARD DRAWING NO.

E 805-TSCS-10

AT

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




5/16

/—Top splice plate

N
7
/‘
\/,

AN AN

N

MBottom splice plate
WELD DETAIL D

1" thick plate

4-11/8" @ bolts
with 5/16" thick plate
washer with standard holes

See Weld Detail D

p@®

(Inside Pole Diameter)

2" B 2"

(Bolt Circle)

90° (Typ.)

4-13/16" X 2 3/4"
slotted holes

| —

TOP SPLICE PLATE

o

D

N

\
/

| =i =| ‘\

ELEVATION

A

3"@ center hole with
rubber grommet

Pole section 2

\

Handhole B

=

— Top splice plate

\—Bottom splice plate @

Handhole B

/

Pole section 1

NOTES:

(1) See Standard Drawing E 805-TSCS-08 for pole dimensions.

@ See Standard Drawings E 805-TSCS-03 and -12 for bottom splice
plate details.

3. Diameter at the bottom of Pole Section 2 shall match the diameter at
the top of Pole Section 1.

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION POLE SPLICE DETAILS
FOR ARMS 35' OR LESS

SEPTEMBER 2012

STANDARD DRAWING NO. E 805-TSCS-11

& \/ . \/Q/-7 7,
N\ 0 C /
QX o

/s/ Richard L. Van(Cleave 09/04/12

SUPERVISOR, ROADWAY STANDARDS DATE

/s/ Mark A. Miller 09/04/12

CHIEF ENGINEER DATE




D+09"

2" D +5"

2"

Slotted holes circle

4-13/16" X 2 3/4"
slotted holes

" 4" @ center hole
with rubber grommet

1" thick plate

|
(3 TOP CONNECTION PLATE

D

4-11/8" @ bolts
each with 1 hex nut

2 - 5/16" thick plate washers

with standard holes

(3)Top connection plate

(2) Bottom connection plate

(1) Bottom splice plate

Handhole B

Pole section 1

outside bottom

Pole section 2

/ (if required)

5/16

C..

ELEVATION

2" .y

5/16

6-11/8"@X23/4"long
bolts all threads
with lock washers

NOTES:

D+9" @ Orient bottom splice and bottom connection plates with
combination arm as shown on the bottom splice plate
" " " detail on Standard Drawings E 805-TSCS-03 and -11.
2 D+5 2
(outside bolt circle) @ All plate dimensions shall be based upon the outside diameter D
2 1/2" b 212" at the top of pole section 1.
|
|outside pole diameter @ Diameter at bottom of pole section 2 shall match the diameter
at the top of pole section 1.
@Combination Arm
direction 4 -1 3/16" @ drilled hole:

(1) Bottom splice plate
6-11/8" @ tapped holes

3" B 3"

(inside bolt
circle)

for 1 1/8" @ bolts

Outside face
of pole

2" thick plate

4" @ center hole
with rubber grommet

(2 BOTTOM CONNECTION PLATE

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION POLE SPLICE DETAILS
FOR ARM OF GREATER THAN 35' TO 60

SEPTEMBER 2012

STANDARD DRAWING NO. E 805-TSCS-12

VWL
W 1,
/

O
S /s/ Richard L. VanCleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE

AT




/—Top of Pavement

in in
© 2 = ©
® 7l ® i ® |
. € 0 o100 10 5 L1 13' %@
! | @ | 1 — | 1 >
® @ ) ® ® - ® @ .
: : :
e P == s —
© 1 o =
£ ©, 2 ® & ®
g =2 0.5' o E g = »s  E ? 3 5.5 €
£ S E E ‘ i E | E
= 12 3 = | 17 3 = | 22 E
E,E N i N u.: N
N
- Top of ~ — ~ — o
/~ Pavement :Top of Pavement /—TOP of Pavement
15' ARM 20' ARM 25' ARM
® ©® o
i
= (]
I 12' I 12' I 11 ?n
=
E ] @ @5 —_—t DEVICE DESCRIPTION
s @ 12" - 5 Section Signal Head With Backplates
S E 8 € 36" x 30" Regulatory Sign
g 32" % @ 18" x 96" Street Name Sign
i ' = @ 1 - Mounted Camera
™~ N @ 12" - 3 Section Signal Head With Backplates

35' ARM

18" x 132" Street Name Sign

Top Pole Luminaire

@ o ~r
o1 18' i
f 1 ™~
® ® .
S
-
X
g ®
'g S 6 e
= S
> R
Top of Pavement
S
30' ARM
NOTE:

1. The structure arms and pole are designed for the above loading
conditions. Foundation types A and C are designed for arms having
length of 35 ft or less. See Standard Drawings E 805-TSCS-15 and -17
for foundation types A and C.

INDIANA DEPARTMENT OF TRANSPORTATION

TRAFFIC SIGNAL CANTILEVER STRUCTURE
COMBINATION ARM LOADING
FOR ARM OF 35' OR LESS

SEPTEMBER 2012

STANDARD DRAWING NO. E 805-TSCS-13

W,
/

®

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE

\
ARTRTRRINAN




40' Maximum

© © = i
@ [ @‘ 0" Q 0 il
| 12 | 12' | 16' & | 12' | 12' | 21' in | 12' | 12' | 12 | 14' ~
! ' ! ™ ! ! ' S ! ! ! ! &
® © ® : ® ® ® : ® ® ® @ 3
£ £ S
P B ] B —— B
g ® 2 ® g ®
2| £ 55, g ?l S I - 2| 5 -~ . &
= ‘ 24 |13 E £ | 12" | 30 £ £ ‘ 12' ‘ 24 ‘ 1 3 E
'_f | 1 é = | 1 § .i , | | §
5_ iTop of Pavement N "'__ Top of Pavement N D__ Top of Pavement N
40' ARM 45' ARM 50' ARM
NOTES:
® © & 0 © |
= 0 3 — 0 —y 1. See Standard Drawing E 805-TSCS-13 for Legend.
2. The structure arms and pole are designed for the above loading
12' 12' 12" 19' ) | 12' | 12' | 12' | 12' | 12' conditions. Foundation types B and D are designed for arms having
| | i i ® @ID ' ' ' ' in length of greater than 35 ft to 60 ft. See Standard Drawings
@ @ @ @ E @ @ @ @ b E 805-TSCS-16 and -18 for foundation types B and D.
£
B | | ] = S
£ 6 ® c i £ ‘ ‘ ® c INDIANA DEPARTMENT OF TRANSPORTATION
£ E ¥ 2 12 24 | 122 | 9 5
£ ‘ i ‘ > ‘ 6 E gl | | | £ TRAFFIC SIGNAL CANTILEVER STRUCTURE
. i i g > = COMBINATION ARM LOADING
= N ™ oo of P . N FOR ARM OF GREATER THAN 35' TO 60
op of Pavemen
4 oToperPavement e SEPTEMBER 2012
STANDARD DRAWING NO. E 805-TSCS-14
55' ARM 60' ARM
3 9 L. VOQQ///
S /s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS DATE
/s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




9-#7 x 12'-6" (Typ.)

1 3/4"@ x 6'-6" Anchor

bolts (typ.) on bolt
circle = 1'-11"
evenly spaced

2" @ conduits

3'_0"

SECTION H-H

Grounding

Bushing
E‘u\_\

1" @ conduit

1" @ Conduit
for ground wire

See Standard Drawing
E 805-SGGR-01

2|_0"

3

- 1|_0||
|
1'-6"

Lo

&

2" @ conduit A

AN

13/4" @ x6-6" )
anchor bolts

#7 x 12'-6"

3"

401—

3" Cl.

SHAFT SECTION

H

6"

®

ANCHOR BOLT A DETAIL

(@)
1/2u

AT

; 1|'-1_1"I Metal skirt BILL OF MATERIALS
olt circle ya® NOTES: DRILLED SHAFT
@ Alternate 6" x 6" x 1/2" square washer with hex TYPE A
. nut welded to lower end may be substituted for
2 1/4" min. clearance =5 bent anchor bolt. REINFORCING BARS
to weld at pole hj N (2) Bolt circle, b, shall allow clearance for the plate SIZE OR INUMBER | LENGTH | WEIGHT
washer. Cutting or trimming the washer will not MARK |OF BARS| (ft.) (Ibs.)
be allowed.
#7 9 12'-6"
See Standard Drawing E 805-TSCS-03 for base Total #7 230
plate A details. 201 | 14 | 95"
M\l @ A tooled line or other type of permanent marking Total #4 88
soseplte A ) s el 1 op O e foundatinto [ Toral Renforong Bets___|_ 318
3+ Metal skirt CONCRETE
Ry ] (See detail) Concrete, Class A | 3.4Cvs
m 7 m
B
5/16" @ stud holes
2'-0" (Typ.)
g,
ELEVATION \ 4" Radius 3/8" x 2" Slots
- 3 I
/ — —
1_2n - T s T T
1-3 Detail "E" ] ! T
o SN - ==
- 1 ?<| _T =1 =<|'—__ T
- ] md
L | < L | n
_+ ) 1" 2
o M \ !
5 401 X 9'-5" >/16" D stud bolt  \—petail "F"  DETAIL E DETAIL F
e (Typ.) ——— =7
3 METAL SKIRT DETAIL
=E Anchor bolt cover
o
g o — %Base plate A INDIANA DEPARTMENT OF TRANSPORTATION
a £ - |. Drilled shaft to
5| L B E ol T/ ° TRAFFIC SIGNAL CANTILEVER STRUCTURE
. =2 7 B _ DRILLED SHAFT FOUNDATION TYPE A
L © | Metal skirt FOR ARM OF 35' OR LESS
= SEPTEMBER 2012
= & 1 3/4"
M ” See aléernate STANDARD DRAWING NO. E 805-TSCS-15
ending

/s/ Richard L. Van(Cleave 09/04/12
SUPERVISOR, ROADWAY STANDARDS ~ DATE
s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




15-#7 x 156" (Typ.)

1" @ conduit

2 1/2"@ Hole

NOTES:

BILL OF MATERIALS

STTTTRTREAAN

T ___ < Alternate 8" x 8" x 1/2" square plate tapped
e 2._7\..\\@\ @ and welded to the anchogbolt rﬁay be i DRILLED SHAFT
2 1/4"3 x 8'-0" An.Ch.?r Bolt circle " AN substituted for bent anchor bolt. TYPE B
b0|tsét¥p')- oln 27 401 == ® - @ Bolt circle, b, shall allow clearance for the
evegltli;r)imge d @2 1/2" Min. Clearance | > 2 plate washer. Cutting or trimming the washer REINFORCING BARS
To Weld At Pole i will not be allowed. SIZE OR [NUMBER | oy~ | WEIGHT
See Standard Drawing E 805-TSCS-03 for MARK' | OF BARS (Ibs.)
/ base plate B details. #7 15 15'-6"
2" @ conduits (4) Atooled line or other type of permanent Total #7 475
marking shall be provided on the top of the 401 | 17 | 126"
fouréda_lttion to indicate the direction of the Total #4 142
" onduits.
4-0 PLAN coned Total Reinforcing Bars 617
1" @ conduit Base plate B @
SECTION I-1 for ground wire Metal skirt (See detail) CONCRETE
Grounding Bushingj\ See Standard Drawing =Q N Concrete, Class A | 7.5 CYS
M o M E 805-SGGR-01 N T
: | [
iErEmE —
= = §° o 5/16" @ Stud Holes
T rI ; L _+I g (Typ.)
> | | 3 B g\ 4" Radius 3/8" x 2" Slots
R )= E ELEVATION ; . 5 X
L 5 —Jlj- —1 e
2" @ condut _// t % Detail "G" ! =§
/ o 3 3 -k g
= S S
2 1/4" @ anchor bolts ¥ ~ 5/16" @ Stud Bolt 1" 2"
1 — (Typ.) N y
<\ \ DETAIL G DETAIL H
#7 A SKIRT DETAIL Detail "H"
. nchor bolt cover
o
e %Base plate INDIANA DEPARTMENT OF TRANSPORTATION
. | |
C - -
3 401 3" :|E @ £ ] TRAFFIC SIGNAL CANTILEVER STRUCTURE
=z — \ DRILLED SHAFT FOUNDATION TYPE B
© _ — .
SHAFT SECTION © N Metal skirt FOR ARM OF GREATER THAN 35' TO 60'
= SEPTEMBER 2012
iy 2 1/4" 19"
™ See al(ij_ernate STANDARD DRAWING NO. E 805-TSCS-16
ending
. P \\\\\\\nm/,,///
/s/ Richard L. Van(Cleave 09/04/12
@ = ;\ SUPERVISOR, ROADWAY STANDARDS ~ DATE
g S ) 401 X 12'-6"
- /s/ Mark A. Miller 09/04/12
ANCHOR BOLT B DETAIL CHIEF ENGINEER DATE




6-701 (Bottom)— " ;
( ) 8-702 1" @ conduit NOTES: BILL OF MATERIALS
8-#4 x 10'-6"_ —
(Bottom) = 4-13/4"G x 6-9" Anchor || - -7/\9 301 (1) Alternate 6" x 6" x 1/2" square washer with SPREAD FOOTING
qqn 11%4 \ < hex nut welded to lower end may be TYPE C
bolts on 1'-11" circle, ) A )
G }-3 J substituted for the bend in the anchor bolt.
evenly spaced / O ™
1 -+ fo 2" @ conduits — ./&{:’Q . 302 @ Minimum H required is 4 ft. soil cover over the REINFORCING BARS
15-501 (Bottom) —————H———f— N entire footing area. SIZE OR [NUMBER [ o . [ WEIGHT
T I (3) Bolt circle, B, shall allow clearance for the MARK | OF BARS (Ibs.)
A4 & . plate washer. Cutting or trimming the washer 701 6 11'-4"
T <+ 3'-0" will not be allowed.
1 @ 702 8 6'-0"
_ = See Standard Drawing E 805-TSCS-15 for Total #7 237
- LK K 2 4 J K SECTION J-J metal skirt details. S0l TR
1 ° = = ? -! 1 n
Birection -1 1 L %o ) TN . B=1-11 (5) See Standard Drawing E 805-TSCS-03 for
-1 SL_? oz 1 3/4"@ Anchor bolts ‘\ @ base plate A details. Total #5 183
T - \ / @ A tooled line or other type of permanent # | 32 | 10-6"
1 1 < — o1 marking shall be provided on the top of the Total #4 224
g) 5 2 1/4" Min. clearance | i E%Lrll?j(ljj?gon to indicate the direction of the 301 5 11'-0"
J = z N[ ™M .
12-#4x10"-6" T N 5y to weld at pole \V 32 | 10 | 34
(Top) S 1 B By | I R R & { Ry Total #3 33
N (5) Base plate At :. Total Reinforcing Bars 677
| PLAN — CONCRETE
¢ L al) C te, Class A 8.2 CYS
12-#4 x 10'-6" (Top) @ 12" Max. spacing— © OTErete, 2358 |
3" 11 Spaces @ 1'-0" Max. = 10'-6" (Top) 3" Base plate A @ -
14 Spaces @ 9" = 10'-6" (Bottom) i: N
7|_0l| 3!_0" 1|_0|| 2 M?(tals@ : @2 6 ! 5"2"
.rt l_ n
e g N 2 702 x 6'-0"
1" @ conduit 4
SECTION L-L for ground wire \ -
7'-0" | 3'-0" 1'-0" SeeES;%g(ilgE;ngr_-g‘ivmg ¢ TN C D C D) C
Grounding BUSh|ng _ - ‘ _gn ‘ ‘ _gn ‘ ‘ _gn
adna | A ELEVATION Lo 2 106 | 106 !
| |
o) ] 7 ) A 301 x 11'-0" 302 x 3'-4" 501 x 11'-8" 701 x 11'-4"
) - T = -
_ Ity i el LA
2 N L s =T 1&|a
Y 1 )] | =1l INDIANA DEPARTMENT OF TRANSPORTATION
I 2" & conduit —41 3"d = é 5 S _ Anchor bolt cover
= 4% 106" N = ”’ﬁ 2lg Steel base plate A TRAFFIC SIGNAL CANTILEVER STRUCTURE
ﬂ 3/4" @ x 6'-9" Anchor bolts | e - 88— Metal skirt SPREAD FOOTING FOUNDATION TYPE C
= S - 1
g g 0 A 2 3 See alternate FOR ARM OF 35' OR LESS
1 I Y B I VU ending (D SEPTEMBER 2012
#4 x 10'—6"~/ / 701 or #4x 10"6"‘/ STANDARD DRAWING NO. E 805-TSCS-17
501 Bars 301 & 302 @ 1'-0" Max.— Wy,
11'-0" \0 |
ANCHOR BOLT C DETAIL S /s/ Richard L. VanCleave 09/04/12
SECTION K-K SUPERVISOR, ROADWAY STANDARDS DATE
/s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




12-#4x11'-6" (Bottom)— 8-801 (Bottom)— %n
1" & condut NOTES: BILL OF MATERIALS
1 4 g @ Alternate 8" x 8" x 1/2" square plate SPREAD FOOTING
5 16-802 tapped and welded to anchor bolt may TYPE D
—_ —+ Z =, 4-21/4"@ x 7'-3" Anchor O -~ - 301 3 be substituted for the bent anchor bolt.
17-701 (Bottom)H——t—————f bt 5|8 bolts on 27" circle, k=21 /a y N - |
i 4 o in evenly spaced / J 5 @ Minimum H required is 4 ft. soil cover REINFORCING BARS
. Y Sp . I
G| Vﬂ k - over the entire footing area.
ER 1 S| [ -° \ ™ SIZE OR |NUMBER | | o\ <o | WEIGHT
& 2" @ conduits —’/ﬂ\ 2 X @ Bolt circle, B, shall allow clearance for MARK | OF BARS (Ibs.)
1 1 O : e S— the plate washer. Cutting or trimming —
A’ the washer will not be allowed. 801 8 11-5
802 16 6'-1"
. 302 (4) See Standard Drawing E 805-TSCS-16 [0~ =2 coa
N | ° ° S _IN 3'-6" for metal skirt details.
Arm ©D H| B _f 700 | 17 | 16-2"
Direction 1 S|& | i SECTION 0-O (5) See Standard Drawing E 805-TSCS-03 Total #7 562
R R 2 I for base plate B details. #4 13 14'-6"
(5) Base plate B @ A tooled line or other type of permanent #4 28 11'-6"
B=2-7" marking shall be provided on the top of Total #4 341
T T % 7 the foundation to indicate the direction —
1 L =|_ _ of the conduits. 301 > 13: -9.
?‘7’ S ) 2 1/2" Min. clearance =2 o B TO?E;Z#B 10 9'-8 =
— T o & to weld at pole ™™ o w~| ™ _ :
@_ in in — Total Reinforcing Bars 1468
13-#4x14'-6" , T T gl CONCRETE
(Top) 1 T T T N
—1 T © Concrete, Class A | 12.0 CYS
1 PLAN C
|
16-#4x11'-6" (Top) @ 12" Max. spacing— | D Base plate B (5) ‘ 5o |
gl % = Metal @) | 30  802x6-1"
3" 12 Spaces @ 1'-0" Max. = 11'-6" (Top) 3" ©| < skirt |-'—'-| oUzXbo6-1
16 Spaces @ 9" Max. = 11'-6" (Bottom) e ~ &
71_6" 31_6" ll_on % A - =CI> 3'_0" ;
12'-0" @ I \ o X :l‘ C D) C
1"Q@ condui_t f o Lo — mﬂpi |1 ‘ 14'-6" ‘ ‘ 10-6" |
SECTION M-M for ground wire PRI C LR U | . i
. . o See Standard Drawing ' AN ' on " 'V en
Grounding busTing\ -
| i . INDIANA DEPARTMENT OF TRANSPORTATION
@ . / Q o o - " Anchor bolt cover @
iy zl o ' g Loy = K Mﬁ Q| [EA—Steel base plate B & TRAFFIC SIGNAL CANTILEVER STRUCTURE
+ i ) T 3 L) _ S&— H Galvanized metal skirt 8" i SPREAD FOOTING FOUNDATION TYPE D
! 2" @ conduit —47 || : 3| & B T 2 1/4" FOR ARM OF GREATER THAN 35' TO 60
— S = © See alternate
#4x 11-6" 802 3o ® ending (1) SEPTEMBER 2012
[ 2 1/4" @ Anchor bolts 2 _i)
S [ ——r ! _fe STANDARD DRAWING NO.  E 805-TSCS-18
M g - o | = M
o . ‘. e | le . . Y Jeo \\\\\HIH//////
"_gn 801 or #4 11'-6"J O .
#4 x 14'-6 J / or #4 X ANCHOR BOLT D DETAIL S /s/ Richard L. VanCleave 09/04/12
701 Bars 301 & 302 @ 1'-0" Max.—
SUPERVISOR, ROADWAY STANDARDS DATE
12!_0"
SECTION N-N /s/ Mark A. Miller 09/04/12
CHIEF ENGINEER DATE




	E805-TSCS-01
	E805-TSCS-02
	E805-TSCS-03
	E805-TSCS-04
	E805-TSCS-05
	E805-TSCS-06
	E805-TSCS-07
	E805-TSCS-08
	E805-TSCS-09
	E805-TSCS-10
	E805-TSCS-11
	E805-TSCS-12
	E805-TSCS-13
	E805-TSCS-14
	E805-TSCS-15
	E805-TSCS-16
	E805-TSCS-17
	E805-TSCS-18

